1. Histologic analysis of uterus mucous membrane revealed twisting glands, serrated and spinned, they were extended by stroma growth with proliferation of its cells. Formulate a diagnosis: 
A. Glandular hyperplasia of endometrium 
B. Acute endometritis
C. Leiomyoma 
D. Cystic mole 
E. Placental polyp
2. 39 y.o. woman went through an operation in course of which surgeons removed her uterine tube that was enlarged and a part of an ovary with a big cyst. Histological examination of a tube wall revealed decidual cells, chorion villi. What was the most probable diagnosis made after examination of the uterine tube? 
A. Tubal pregnancy 
B. Placental polyp 
C. Choriocarcinoma 
D. Papyraceous fetus 
E. Lithopedion
3. Examination of a newborn boy’s genitals revealed a cleft of urethra that opens on the inferior surface of his penis. What developmental anomaly is it? 
A. Hypospadia 
B. Hermaphroditism 
C. Epispadia 
D. Monorchism 
E. Cryptorchism
4. A young man consulted a doctor about disturbed urination. Examination of his external genitals revealed that urethra is split on top and urine runs out of this opening. What anomaly of external genitals development is the case? 
A. Epispadia 
B. Phimosis 
C. Hermaphroditism 
D. Paraphimosis 
E. Hypospadia
5. Diagnostic scraping was performed to the woman with dysfunctional uterine bleeding. Multiple convoluted glands, ganglially dilated lumens of some glands were revealed histologically in the scrape. Name the type of general pathological process in endometry:
 A. Hyperplasia glandulocystica 
B. Atrophy 
C. Metaplasia 
D. Displasia 
E. Hypertrophic excrescence
6. 6 months after labour a woman had uterine hemorrhage. Gynaecological examination of uterine cavity revealed a dark-red tissue with multiple cavities resembling of a "sponge". Microscopic examination of a tumour revealed in blood lacunas atypic light epithelial Langhans cells and giant cells of syncytiotrophoblast. What tumour is it? 
A. Chorioepithelioma
B. Squamous cell nonkeratinous carcinoma 
C. Adenocarcinoma 
D. Fibromyoma
E. Cystic mole
7. On histological examination of uterine mucosa the following is detected: sinuous glands, serratiform and corkscrew-shaped elongated growths of stroma with cell proliferation. Make the diagnosis:
A. Glandular endometrial hyperplasia
B. Acute endometritis
C. Leiomyoma
D. Vesicular mole
E. Placental polyp
8. A 40-year-old female patient has undergone thyroidectomy. Histological study of thyroid gland found the follicles to be of different size and contain foamy colloid, follicle epithelium is high and forms papillae, there is focal lymphocytic infiltration in stroma. Diagnose the thyroid gland disease: 
A. Basedow’s disease 
B. Hashimoto’s thyroiditis 
C. Riedel’s thyroiditis 
D. De Quervain’s disease 
E. Nodular goiter
9. A 50 year old patient has been taking treatment thrice for the last 6 months because of fractures caused by domestic accidents. Microscopical examination of bony tissue revealed foci of lacunar resolution, giant-cell granulomas in the tumour-like formations, cysts. Bony tissue was substituted by fibrous connective tissue. Examination revealed also adenoma of parathyroid gland and hypercalcemia. What is the most probable diagnosis? 
A. Parathyroid osteodystrophy
B. Myelomatosis
C. Osteomyelitis 
D. Osteopetrosis
E. Paget’s disease
10. Autopsy of a 40-year-old woman, who died of cerebral hemorrhage during hypertensic crisis, revealed: upperbody obesity, hypertrichosis, hirsutism, stretchmarks on the skin of thighs and abdomen. Pituitary basophil adenoma is detected in the anterior lobe. What diagnosis is the most likely?
A. Cushing’s disease
B. Essential hypertension
C. Alimentary obesity
D. Simmonds’ disease
E. Hypothalamic obesity
11. A woman complains of visual impairment. Examination revealed obesity in the patient and her fasting plasma glucose level is hyperglycemic. What diabetes complication can cause visual impairment/blindness?
A. Microangiopathy
B. Macroangiopathy
C. Atherosclerosis
D. Neuropathy
E. Glomerulopathy
12. Histological investigation of the uterine scrape of the 45-year-old woman with disturbed ovarian menstrual cycle revealed increased number of endometrial glands, some of which are serrated, while others are dilated and cyst-like. Make the diagnosis.
A. Endometrial cystic glandular hyperplasia
B. Endometrial adenocarcinoma
C. Glandular endometrial polyp
D. Placental polyp
E. Atypical endometrial hyperplasia
13. During the histologic examination of thyroid gland of a man who died of cardiac insufficiency together with hypothyroidism there was found the diffusive infiltration of gland by lymphocytes and plasmocytes, parenchyma atrophy and growth of connective tissue. Formulate a diagnosis:
A. Hashimoto’s thyroiditis
B. Thyroid gland adenoma
C. Purulent thyroiditis
D. Thyrotoxic goiter
E. –
14. A 40 year old female patient has enlarged thyroid gland. On palpation the gland is dense, its surface is slightly tuberous. Histological examination of gland sample revealed diffuse infiltration of tissue by the cells, formation of lymphoid follicles.What disease is it?
A. Autoimmune thyroiditis
B. Endemic goiter
C. Sporadic goiter
D. Diffuse toxic goiter
E. Riedel’s disease
15. A 29-year-old female patient has moon face, upper body obesity, striae on her anterior abdominal wall, hirsutism; urine shows an increased rate of 17- oxy ketosteroids. What disease are these presentations typical for?
A. Itsenko-Cushing syndrome
B. Pheochromocytoma
C. Conn’s syndrome
D. Primary aldosteronism
E. Secondary aldosteronism
16. Autopsy of a 67-year-old man who died after presenting with hypoglycemic coma revealed some areas of connective tissue growth and necrosis foci, atrophy of Langerhans islets in pancreas. What disease might have induced such changes in pancreas?
A. Diabetes mellitus
B. Mucoviscidosis
C. Acute pancreatitis
D. Cancer of the head of pancreas
E. Pancreas hypoplasia
17. A 35-year-old woman complains of swollen neck. Subtotal thyreoidectomy is performed. On histological examination of the removed part of the thyroid gland the following was detected: atrophy of parenchyma, moderate sclerosis development, duffuse infiltration by lymphocytes and plasma cells leading to formation of lymphatic follicles. What pathology has developed in the thyroid gland?
A. Hashimoto's thyroiditis
B. Follicular adenoma
C. Riedel's thyroiditis
D. Papillary carcinoma of the thyroid gland
E. Diffuse toxic goiter
18. Histological investigation of the uterine scrape of the 45-year-old woman with disturbed ovarian menstrual cycle revealed increased number of endometrial glands, some of which are serrated, while others are dilated and cyst-like. Make the diagnosis: 
A. Endometrial cystic glandular hyperplasia 
B. Atypical endometrial hyperplasia 
C. Endometrial adenocarcinoma 
D. Placental polyp 
E. Glandular endometrial polyp 
19. When examining a biopsy material obtained from the thyroid gland, the pathologist discovered lymphocyte infiltration of the thyroid tissues and destruction of the parenchymal elements. Diffuse lymphocyte infiltration with lymphoid follicles was detected in the stroma. What is the most likely diagnosis? 
A. Hashimoto's thyroiditis (chronic lymphocytic thyroiditis) 
B. Graves' disease (toxic diffuse goiter 
C. Solid adenoma of the thyroid 
D. Papillary thyroid cancer 
E. Undifferentiated thyroid carcinoma 
20. A newborn failed to take his first breath. Autopsy revealed that despite unobstructed airways the lungs of the newborn were unable to stretch. What is the most likely cause of this condition?
A. Absence of surfactant
B. Bronchial narrowing
C. Pleural thickening
D. Bronchial rupture
E. Alveolar enlargement
21. During examination of the patients oral cavity a dentist noticed deformation of the teeth and a crescent indentation on the upper right incisor. The teeth are undersized, barrel-shaped – tooth cervix is wider than its edge. The patient uses a hearing aid, suffers from visual impairment. What type is syphilis affects teeth in such a way?
A. Late congenital 
B. Secondary
C. Primary
D. Early congenital
E. [bookmark: _GoBack]Neurosyphilis
22. At autopsy, section of the right ovary shows a round lesion 2.5 cm in diameter with a clear serous fluid, surrounded by a smooth glistening membrane. Which of the following macroscopic lesions best represents the autopsy findings?
0. Cyst
0. Infiltrate
0. Nodule with central necrosis
0. Ulcer
0. Nodule
23. A 40-year-old woman dies of intracerebral hemorrhage after the hypertensive emergency. During an autopsy, the pathologist reveals severe obesity, excess of body hair and wide purplish stria on the abdomen. Microscopic examination of pituitary gland reveals hyperplastic acini populated by a homogenous cluster of deeply basophilic cells. Which of the following was the most likely underlying disease?
0. Cushins; disease
0. 
0. Hyperthyroidism
0. Arterial hypertension
0. Sheehaif s syndrome
24. Alter delivery of a child by pregnant woman, the midwife notices a defect in external genitalia of a newborn. The woman only had one prenatal ultrasound that reported a male fetus. On physical exam, the neonatologists notices a short, broad penis with an orifice in its dorsal aspect, both testicles are present in the scrotum. Which of the following is the most likely congenital abnormality?
0. Epispadias
0. Phimosis
0. Ovotesticular disorder of sex development
0. Hypospadias
0. Paraphimosis

